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Circle the improper fraction that is equivalent to &

A book has 276 pages.
Amina has read % of the book.

How many pages are left for Amina to read?
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Tick two shapes that have % shaded.
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Lara had some money.

She spent £1.25 on a drink.

She spent £1.60 on a sandwich.

She has three-quarters of her money left.

How much money did Lara have to start with?
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This is Kirsty’s recipe for breakfast cereal.

50 grams of oats
30 grams of raisins

40 grams of nuts

If she uses 125 grams of oats, how many grams of raisins does she need?

Show
your
method

2 marks
What is 10% of a half?
1 mark
What percentage of 20 is 19?
%o
1 mark
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Seb goes on a sponsored walk to collect money for charity.
His aunt promises to pay 75p for each kilometre he walks.
She pays him £6.75 at the end of the walk.

How many kilometres does Seb walk?

15% of the people walk 5 km or less.
40% of the people walk 8 km or more.

What percentage of the people walk between 5 km and 8 km?

Zetland+Primary+School

km

1 mark

Vo

1 mark

Page 5 of 11



All the children in Class 6 vote to pick a class captain.

The choice is Holly or Dev or Joe.

Yote
once
X
Holly
Dev
Joe

Dev gets 10% of the votes.
Joe gets twice as many votes as Holly.

What percentage of the votes does the winner get?
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These patterns are drawn on square grids.

Pattern A Pattern B

In pattern A, the ratio of black squares to grey squaresis 1: 2

What is the ratio of black squares to grey squares in pattern B?

Now look at this new pattern.

What percentage of the new pattern is black?

Yo
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If you know 40% of a number, explain how you could work out the original number.

Here is a grid of 20 squares.

What percentage of the grid is shaded?

Yo
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Here is a pattern on a grid.

What percentage of the grid is shaded?
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250 000 people visited a theme park in one year.

15% of the people visited in April and

40% of the people visited in August.

How many people visited the park in the rest of the year?

-

Show
your
method
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Two of the ingredients of chocolate are cocoa and sugar.

In milk chocolate,

20% of the mass is cocoa, 55% is sugar.

A bar of milk chocolate contains 50 grams of cocoa.

How many grams of sugar does it contain?

-

Show

your
method
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John had £5
He gave 25% of it to charity.

How much did he give?
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